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PiecewiseFunction Answers for No.9395

x| =101 -9 -8 1] -7 -6 -5 -4 -3 -2 -11] O
Ans01 : f(x)| -22 | -20 | -18 | -16 -14 | =12 | -10 | -8 | -6 | NA | -2
Ans02 : f(x)| -7 | =71 =71 =7 =71 =71 =71 =71 -6 =51 -4
Ans03
2x+1
f(X)=[
x+2 ;
f(-3)=7, ,f(-2)=5, ,f(-1)=NA4,
Ans04
2x+1
flx)=| 5 ;
x+3 N
f(-4)=9, ,f(-3)=7, ,f(-2)=5,
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.9419

x | =10 | -9 | -8 | 71 -6 | 51 =41 =31 =21 -1/ 0 | 1 2 3 4 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | NA | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
Ans02 : f(x)| 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 0 | 01 0 | 01 2 | 4 | 6 | 8 | 10 | 12 | 14 | 16
Ans03
2x+3 ;o x< -2
)=
3—x ; x>=-2
f(-4)=-5, ,f(-3)=-3, ,f(-2)=5, ,f(1)=2, ,f(3)=0
Ans04
2x+2 x< -2
fix)=] 1-x , -2<=x<1
0 N x>=1
f(-4)=-6, ,f(-2)=3, ,f(1)=0, ,f(3)=0, ,f(4)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9428

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | NA | 3| 4 | 5 | 6 | 7 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 |
Ans02 : f(x)| -15 | -13 | =11 | -9 | -7 | =51 =3 | 4 | 3 | 2 | 1| 0 | 0 | 0 | 0 | 0| 0 | 0| 0 | 0 | 0 |
Ans03
x+1 sox< 1
f(x):[ }
2x-3 ; x>=1
f(-1)=0, ,f0)=1, ,f(1)=-5 ,f(3)=-9, ,f(4)=-11
Ans04
x+2 ;  x<=-1
fix)= -4 ;- <x< 1
2x-2 N x> ]
f(-2)=0, ,f(-1)=1, ,f(0)=-4, ,f(1)=N4, ,f(2)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -2 | 0 | 2 | 2 | 2 | Discontinuous |
1 | 4 | 1 1 1 | Discontinuous |
5 | 2 2 2] 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9459

x| =101 -9 -8 | -7 -6 | -5 -4 =31 -2 -11] 0| 270 31 4]
Ans01 : f(x)| 7 6 | 5 | 4 3| 2 1 0 | -1 | -2 | -3 -4 | -5 | NA | 11
Ans02 : f(x)| -8 | -7 -6 | =5 -4 | =31 =21 -1 0| -10 | =10 | =10 | =10 | NA | -12 |
Ans03
B3+x ,; x<=2
f(x):[
2x+3 ; x> 2
f('l):'4’ af(o):'37 ’f(l):'za af(z):'la ’f(4):'5
Ans04
-2 ; x< -3
fix)=| x+1 ; -3<=x<=1
2x+3 x> 1
f(-4)=-2, ,f(-3)=-2, ,f(0)=1, ,f(1)=2, ,f(2)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
2 4 | 2 4 | DNE | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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PiecewiseFunction Answers for No.9476

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -5 | -4 | -3 | -2 | -1 | 0 | 1 | NA | 7 5 3| 1| -1 | -3 | -5 | =71 -9 | -11 | -13 | -15 | -17 |
AnsO02 : f(x)| -5 1| -4 1| -3 | -2 1| -1/ 0 | 1| 2 | 3 41 -1 | -1 - | -2 -3 =511 =71 =9 | -11 | -13 | -15 |
Ans03
2x+1 ; x<=-2
f(x){
3—x ; x> -2
f('4):'7’ 7f('3):'5’ 7f('2):'3’ 7f(1):2’ 7f(2):1
Ans04
5 : x< -2
fix)={2x+1 ; -2 <x<=3
x—2 N x> 3
f(-2)=N4, ,f(-1)=3, ,f(2)=-3, ,f(3)=-5 ,f(4)=2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-6 | 2 | 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1] 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9491

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | -8 | =7 1 -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1 2 3 4 | =7 1 -9 | -11 | -13 | =15 | =17 | -19 | =21
Ans02 : f(x)| -8 -7 -6 -5| -4 -3| -2 -1| -1} -1 | -1 NA| -5 -7 -9 -11 | -13 | =15 | -17 | -19 | -21 |
Ans03
2x+2 ;o x< -1
f(x){
3-x ; x>=-]
f('3):'47 ’f('z):'za ’f('l):'za ’f(l):'4’ 7f(3):'6
Ans04
7 N x<=-2
f(x)={-2x+3 ,; -2 <x<2
x—-2 N x> 2
f('4):7a ’f('3):7’ ,f(-2)27, ’f(o):37 >f(2):NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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PiecewiseFunction Answers for No.9633

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | NA | -1 | 11 3 5 | 71 9 | 11 | 13 | 15 | 17 | 19 | 21
Ans02 : f(x)| -2 1| -2 | =21 -2 1| =21 =21 =21 =21 0 | 2 | 4 | 6 | 8 | NA | 1] ol -1 -2 1 =31 =41 =51
Ans03
x+2 ;ox<=2
f(x):[ }
2x-2 ; x> 2
f(-2)=0, ,f(1)=3, ,f(2)=4, ,f(3)=-8, ,f(4)=-10
Ans04
3 N x< -2
fix)={ 1-x ,; -2<x<2
2x+3 x>=2
f(-4)=3, ,f(-3)=3, ,f(-2)=N4, ,f(2)=7, ,f(4)=11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-8 | undefined | 2 2] 2 | Discontinuous
1 | 4 | 1 1 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
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PiecewiseFunction Answers for No.9711

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 17 | 15 | 13 | 11 | 9 | 71 5 | 3 11 -1 | -3 | -5 | 5 | 6 | 7 8 | 9 | 10 | 11 | 12 | 13 |
AnsO2 : f(x)| -19 | -17 | -15 | -13 | -1} -9 | -7 -5| -3 | -3| -3 -3| NA| -4 -5| -6 =71 =81 =9 | -10 | -11 |
Ans03
—x-2 ; x<1
f(x):[ }
2x+1 ; x> 1
f(-3)=1, ,f(-2)=0, ,f(-1)=-1, ,f(1)=N4, ,f(3)=7
Ans04
-1 ; x< -1
fix)={2x+1 ; -1 <x<2
3—-x x> 2
f(-4)=-1, ,f(-1)=N4, ,f(2)=N4, ,f(3)=0, ,f(4)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-6 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
3 5 | 3] 3 3 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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PiecewiseFunction Answers for No.9784

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -14 | -13 | -12 | -11 | -10 | -9 | -8 | -7 | NA | 4 | 2 0 | -2 | -4 | -6 | -8 | -10 | -12 | -14 | -16 | -18 |
AnsO2 : f(x)| -6 | -6 | -6| -6| -6 -6| -6 -6| NA| -5 -4 -3| -2 -11]~-11 1| -13 | =15 | =17 | -19 | =21 | -23 |
Ans03
-x-2 ; x<-I
f(x):[ }
2x-3 ; x>=-]
f(-4)=2, ,f(-2)=0, ,f(-1)=-5, ,f(1)=-1, ,f(2)=1
Ans04
2x-1 ; x<=-1
f(x)={ x+2 ,; -1 <x<3
5 N x> 3
f(-4)=7, ,f(-1)=1, ,f(2)=4, ,f(3)=N4, ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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PiecewiseFunction Answers for No.10143

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3] 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | -4 | -6 | 3 4 | 5 | 6 | 7 8 | 9 | 10 | 11 |
Ans0O2 : f(x)| 21| 19 | 17 | 15 | 13 | 11 | 9 | 7 5 | 0 | 0 | 0 | NA | 1] 2 3 4 | 5 | 6 | 7 8 |
Ans03
2x+1 ; x<=-1
f(x){
3+x ; x> -1
f(-2):5, af('l):37 ’f(l):'za af(z):'la ’f(4):1
Ans04
3+x x<=-2
f(x)= -3 ;-2 <x<=3
2x+3 x> 3
f('2):'5’ af(l):'37 ’f(2)2'3’ af(3):'37 ’f(4):'5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
2 4 | 2 4 | DNE | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LYYV T ORI O H D794
PiecewiseFunction Answers for No.10626

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
AnsOl : f(x)| -15 | -13 | -11 | -9 | -7 | =51 =3 | 4 | 3 2 1| o| -1 -2 | -3 -4 -5 =61 =71 -81 =9
Ans02 : f(x)| 5 | 4 | 3 2 | 1| o} -1 1 -2 NA| -3 -3 =31 =31 2 | 4 | 6 | 8 | 0| 21 14 | 16 |
Ans03
x—2 sox< 1
f(x):[ }
2x-2 ; x>=1
f(-2)=-4, ,f(-1)=-3, ,f(0)=-2, ,f(1)=-4, ,f(2)=-6
Ans04
-1 K x< -2
fix)={ x+1 ,; -2<x<1
2x+1 x>=1
f(-3)=-1, ,f(-2)=N4, ,f(-1)=0, ,f(1)=-1, ,f(4)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous
=7 | 2 2 | 2 | 2 | Continuous
3 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXXXXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKKKX KX KKK KK KX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LYY T ORI Lo i 25794
PiecewiseFunction Answers for No.11002

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 | 0 | -1 | -2 | -3 | 4 | -5 | -6 | 71 -8 | -9
Ans02 : f(x)| -2 1| -2 | -2 -2 | =21 -2 =21 -2 =21 =31 -41 =51 5 | 7 9 | 1 31 15 | 70 19| 21
Ans03
-1-x ; x<-2
)=
2x+2 ; x>=-2
f('4):3’ af('3):27 ’f('z):'za ,f(O):Z, ’f(2)26
Ans04
2x-2 x<=-2
fix)=| 0 ;s -2 <x<2
2-x x>=2
f(-4)=-10, ,f(-2)=-6, ,f(0)=0, ,f(1)=0, ,f(2)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
-9 3 3 3] 3 | Continuous
-6 | 2 2 | 2 | 2 | Continuous
3 5 | 3 3] 3 | Discontinuous |
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DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LYY LT ORI O i ) ¢
PiecewiseFunction Answers for No.11188

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -12 | -11 | =10 | -9 | -8 | =7 1 -6 | -5 | -4 | 71 5 | 3 11 -1 | -3 -5 | =7 | -9 | -11 | -13 | =15 |
AnsO2 : f(x)| -6 | -6 | -6| -6 -6 -6 -6 NA| -5 -4 -3 -2 | NA | -10 | -12 | -14 | -16 | -18 | -20 | -22 | -24 |
Ans03
x—2 ox< 1
f(x):[ }
2x+3 ; x> 1
f(-4)=-6, ,f(1)=N4, ,f(2)=-1, ,f(3)=-3, ,f(4)=-5
Ans04
3—-x x< -3
fix)=12x-3 , -3 <x<=3
3 N x> 3
f(-3)=N4, ,f(0)=-3, ,f(l)=-1, ,f(3)=3, ,f(4)=3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXKXXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKXKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’'$:0:0:0.0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0.0.0:0:0.6:0.0.0:0.0:0.:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LYY Lo N LI O N /5794
PiecewiseFunction Answers for No.11505

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 | 0 | 2 4 | 6 | -6 | =7 1 -8 | -9 | -10 | =11 | =12 | =13 | -14 |
Ans02 : f(x)| -12 | -11 | -20 | -9 | -8 1| -7 =-6] -5 -4 -1 | =311 -5 =71 =71 =71 =71 =71 =71 =71 =71 =71
Ans03
3—x ; x<2
f(x>=[
2x-2 ; x>=2
f(-3)=6, ,f(0)=3, ,f(2)=2, ,f(3)=4, ,f(4)=6
Ans04
2x+3 x<=-3
fix)=| -5 ;-3 <x<2
-3-x x>=2
f(-3)=-3, ,f(-2)=-5, ,f(2)=-5, ,f(3)=-6, ,f(4)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-10 | 1 2 | 2 | 2 | Discontinuous |
5 | 2 2 2] 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1] 1 1 | Discontinuous |
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DGRV ERHNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LYYV T ORI O N ) ¢
PiecewiseFunction Answers for No.12113

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 11 | 10 | 9 | 8 | 7 6 | 5 | NA | -5 | -3 | -1 | 1 3| 5 7 9 | 11 | 13 | 15 | 17 | 19 |
Ans02 : f(x)| 25| 23 | 21| 19| 17 | 15 | 13 | 11 | 9 | 7 7 7 701 -2 -1 | 0 | 1] 2 | 3 | 4 | 5 |
Ans03
3—x ; x<=1
f(x)=[
2x+3 ; x> 1
f(-3)=6, ,f(-2)=5, ,f(1)=2, ,f(3)=9, ,f(4)=11
Ans04
2x+1 x< -2
fix)=| -3 ; 2<=x<2
-3-x x>=2
f('4):'77 ’f('3):'5a ,f(-2)2-3, ,f(0)2-3, 7f(2):'5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-5 |  undefined | 1 1 1 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXKXKXKXKXXXKXKXXKXXXKXKXKXXKXKXKKKXKXKXKXKXKKXKXKXKKKXKXKXKKKX KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LYYV T O N R I O H ) ¢
PiecewiseFunction Answers for No.12541

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 3| 4 | 5 | -5 | =7 | -9 | -11 | =13 | =15 | =17 | -19
Ans02 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 5 | 6 | 7 8 | 8 | 8 | 8 | 8 | 8 | 8 | 8 |
Ans03
x—1 sox<=-1
f(x):[ ]
2x-3 ; x> -1
f(-4)=-5, ,f(-2)=-3, ,f(-1)=-2, ,f(0)=-3, ,f(4)=-11
Ans04
2x+3 x<=-]
fix)=} x+2 ; -1 <x<=3
5 N x> 3
f(-4)=11, ,f(-3)=9, ,f(-1)=5 ,f(1)=3, ,f(3)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
-2 | 0 | 2 | 2] 2 | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | (YA LYY Lo N oI o i ) ¢
PiecewiseFunction Answers for No.12590

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 -4 | -6 | -8 | -10 | -12 | -14 | -16 | =18 | =20 | =22 | -24 |
Ans02 : f(x)| -8 -8 -8 -8 -8 -8 -8 -8 -7 -6| -5 -4 -3 ] NA| -3 ]| -5 =71 -9 -11 | -13 | -15 |
Ans03
1-x ; x<1
f(x){
2x+2 ; x> 1
f(-4)=5, ,f(-3)=4, ,f(-1)=2, ,f(1)=N4, ,f(2)=6
Ans04
2x+2 x< -1
fix)= 6 ;-1 <x< 3
x+3 N x> 3
f(-2)=6, ,f(-1)=N4, ,f(2)=6, ,f(3)=N4, ,f(4)=7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 3 5 | 3 3 3 | Discontinuous |
5 | 2 | 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXKXKXKKKXKXKXKXKKKXKXKXKKKXKXKXKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0:0.0 ¢ | (YA LY YN T o N0 I Lo <) ¢
PiecewiseFunction Answers for No.12621

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 f(x) | 12 | 11 | 10 | 9 | 8 | 71 6 | NA | =7 | -5 | -3 | -1 | 1] 3 5 | 7 9 | 11 | 13 | 15 | 17
Ans02 : f(x)| -8 -8 -8 -8| -8 -8| -8 NA| -7]| -6 -5 -4 -3 ]| NA | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans03
—1-x ; x<-I
f(x){
2x-3 ; x>=-1
f(-2):1, 7f('1):'5’ af(l):'la ,f(2):1, ’f(4):5
Ans04
-3 K x< -1
f(x)={ x-2 ; -1 <x<3
2x+3 x> 3
f('3):'3> ’f('l):NA’ af(o):'za ,f(2):0, ’f(3):NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-5 |  undefined | 1 1 1 | Discontinuous |
5 | 2 2 2] 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
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PiecewiseFunction Answers for No.12641

x| -10 | -9 -8 =7 61 -5 -4 1 -3 | -2 1 -1/ 0 11 2
Ans01 f(x) | 8 | 71 6 | 5 4 | 3 2 1 0 | -1 | -2 NA | 1
Ans02 f(x)| 5 | 5 | 5 | 5 5 | 5 | 5 | 5 | 5 | 3 | 1 -1 1 -3
Ans03
3—x x<1
)=
2x-2 x>=1
f('4):7a ’f('z):sa 7f(0):3a af(l):oa
Ans04
6 N x< -3
fix)={ 3—-x , -3 <x<3
2x+1 x> 3
f('3):NA7 ,f(-2):5, 7f(1):2a af(z)zla
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity |
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous |
-8 | undefined | 2 2] 2 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
[Page = 0019]

f(4)=6

,f(3)=NA

):0:0:0:9:9:0.0:9:9:0.9.0:0:9.9:0.0.0:0:9:9.9.0.0:9.9:0.0.0:0:9,9.0.0.0:0.9.0.0.0:0.9.0.0.0.0:0.9,0.0.0:0.9.9.0.0.0:0.9,9.0.0:0:9:9.0.0.0:0.9.0.0.0:0.:9.9.0.0.0.9.9.0.0.0:0.9.0.0.0.0.:0.9,0.0.0:0.9.0.0.0.0:0.9.9.0.0.0.9.0.0.0.0.0.:0.9.0.0.0:0.9.9.0.0.0.:0.9.0.0.0:0.9.0.0.4



DGRV ERRNCIVIVEND’$:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.9.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:9.0:0.0.0:0.0:6:0.0 ¢ | [ YA LYY L T o N 010 J0 1240) ¢
PiecewiseFunction Answers for No.12674

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3] 4 | 5 6 | 7 8 | 9 | 10 |
Ans01 f(x)| -22 | =20 | -18 | -16 | -14 | -12 | =10 | -8 | -6 | 3 2 1 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 |
Ans02 : f(x)| 15 | 13 | 11 | 9 | 7 5 | 3 | 1| Nna| -1 -1 =11 -1 -1/ 2 3 | 4 | 5 | 6 | 7 8 |
Ans03
x+1 ;ox<=2
f(x):[ }
2x-1 ,; x> 2
f(-3)=-2, ,f(0)=1, ,f(1)=2, ,f(2)=3, ,f(3)=-7
Ans04
3-x ; x<=-I
fix)={2x+3 ; -1 <x<3
9 s x>=3
f-4)=1, ,f(-1)=-2, ,f(2)=7, ,f(3)=9, ,f(4)=9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKKKK KKK KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:0.0:0:0.6:0:0:0:0:0°0:0.0:0:0:0:0.0:00.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LYYV TO R R I J LA D704
PiecewiseFunction Answers for No.12728

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -24 | -22 | -20 | -18 | =16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 | 0 | 2 -1 | -2 | -3 | -4 | -5 | -6 | =7 1
AnsO2 : f(x)| -14 | -13 | -12 | =11 | =10 | -9 | -8 | -7 | -6 | o} -2 -4 -6| NA| -8 -8 -8 -8 -8 -81] -89
Ans03
2x-2 ; x<-2
f(x){
B+x ; x>=-2
f(-2):-5, ’f(l):'za af(z):'la ’f(3):07 ’f(4):1
Ans04
3—-x ,; x<=-2
f(x)={2x+3 ; -2 <x<3
9 s x>=3
f('4):7a ,f(-2):5, 7f(0):3’ 7f(3):9’ af(4):9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
=7 | 2 2 | 2] 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
3 5 | 3 3] 3 | Discontinuous |
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKX XXX XXX XXX LXK KX KKK XXX LXK KKK KKK XK XXX KK LXK KKK KKK KKK XXX XXX XXX KKK XK XXX KKXKKKKKMGE6/1-6600501-00022XX
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PiecewiseFunction Answers for No.14247

x| -10 | -9 -8 =7 -6 | -5 -4 ]| =31 -2 -1/ 0 1 2] 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 f(x) | 6 5 4 3 2 1 0 -1 | -2 -3 | -4 -5 | -6 10 | 12 14 | 16 18 | 20 | 22 24 |
Ans02 f(x)| 19| 17 | 15 | 13 11 | 9 | 7 | NA | 5 | 5 | 5 NA | -1 | 0 | 1| 2 | 3 | 4 | 5 | 6 | 7
Ans03
3+x ; x< -1
)=
2x-3 ; x> -1
f(-3)=-6, ,f(-1)=N4, ,f(1)=-5, ,f(3)=-9, ,f(4)=-11
Ans04
5 N x<=-]
f(x)={-2x+3 ,; -1 <x<3
x—1 N x>=3
f('4):5’ ,f(-2)25, ,f(-l)ZS, af(z):'la ’f(3):2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
=7 | 2 2 | 2] 2 | Continuous
-5 | undefined | 1 1 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
[R:ECRESIVVA D 0:0:0:0:0:0:0:0:0:0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0:0.0:0:0.0:0:0.0.0.0:0:0.0:0:0.0:0.0:0:0.0:0.0:0:0.0:0:0:0.0.0:0:0:0:0:0.0.0.0:0:0.0.:0:0:0:0.0:0:0.0:0.0:0:0:0:0:0:0:0.0:0:0:0:0.0.:0:0.0.:0:0:0:0:0:0:0.0:0.0:0:0.0:0:0.0:0:0.0.0.0:0:0:0:0:0:0:0.0.:0.0.0.¢
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